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REHM ¢ FRB0E281H (K) ~FER30E2828H (9K) (BT = A\ 9LIb/kg)
=1 - = o ®&EH X BHRRESET
=o yalb sy mB FREHE (28) tymh134+137 (b994136+137)
ESES ks L L =#EHETERL | 20H (X) A& 12.5
ESES FI1%F BB LT AHRET 22H (K) A& 8.5
R ESES F+A1E =RERiE Al 8H (K) A& 10.0
AEES R"oLVVD  [RFBE 23H(£) ESE 19.0
HEES whoLyVy  [7BE]TN 27TH(N) ESE 16.8
HEES =2 I LT =R A H 23H (&) A& 11.9
7% ek, B=k%) [HEK BB LT AHRET 13H (N) ESE 9.6
8|k GiEk. mEA®) [EBIK BB LT 148 (9K) A& 8.4
FINERE M- IPEEL: PR E R BT 27TH(N) NS 13.2
RS PERES HA™ 95 (£) 20.1 9.8
11[Z0fb EAR ELLTEHITZHE | 2H(2) 529.7 6.2
12|Z Dfb B ELLmAmEIRE | 21H0K) 71.8 8.6
13[Z b B A= 195 (8) 1,459.0 8.0
14[Z Db R A= 268 (8) 181.7 6.1
15| Z D fib BEY B EFEITZHE [ 158 (K) 15.0 8.1
16| = Dftb aV=+v7D LT FHITSE 1H(K) NS 5.8
17[ZDftb BR Ao ealr 2l | 145 (K) T 10.3
18| Z D fib T EBLLI T A HET 28 (£) 16.6 8.4
19[Z D fib T EBLLI T A HET 22H (K) 10.4 9.8
20| Z D fib R0 B EREITZHE [ 148 0K) A& 6.1
21[H29FEEX X (BX) HA™ 7H (K) T 8.2
22[H29FEEX X (BX) BEE 22H (K) T 7.2
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